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(1) Find the missing values in each right cone below. The last one is an isosceles cone!
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Volume =a Volume =a Volurne = 100pi Volume =a Volume = 12pi
Curved Surface Area=b Curved Surface Area=b Curved Surface Area =h Curved Surface Area = 8pi Curved Surface Area = ¢
Total Surface Area=c¢ Total Surface Area=c Total Surface Area=c Total Surface Area = ¢ Total Surface Area = 24pi

(2) Find the volume of each frustum below.
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(@) Find the capacity of the pot giving your answer to 3 significant figures.

(b) Given that the material is 12p for each square cm, find the least cost of making the pot.

(c) Abdul now makes a solid pot out of a different material. Given that the mass of the pot is 8.2kg, find the density
of the pot giving your answer in kg/m3.



